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Gorilla population challenge

	Variables which will affect the lowland gorilla population.

Work out the percentages based on an estimated population of 150,000.


	
	What will the population be in one year?
	What will the population be in two years?
	What will the population be in three years?

	If 10% of the population is killed every year by hunting.
	
	
	

	If 20% of the population dies every year because of the Ebola virus. 
	
	
	

	If the population rises by 4% every year.
	
	
	


	Variables which will affect the lowland gorilla population.

Work out the percentages based on 50, 000,000 acres of forest.


	
	How many acres will there be in one year?
	How many acres will there be in two years?
	How many acres will there be in three years?

	If 10% of the forest is cut down every year.
	
	
	

	If the forest is allowed to grow by 2% each year.
	
	
	

	If global warming creates a 4% decrease, per year, of rainforest surface area.
	
	
	


	Variables which will affect the lowland gorilla population.

Work out the percentages based on 10, 000,000 acres of forest.


	
	How many acres will there be in one year?
	How many acres will there be in two years?
	How many acres will there be in three years?

	If the protected forest area increases by 5% per year
	
	
	

	If the protected area decreases by 4% per year
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